



## Vendor Ranking

Page 1 of 1

**Letting:** 04260109    **January 09, 2026 10:30 AM**    **Call Order:** 001    **Contract:** E4Y38-R0  
**District:** District 4    **Counties:** BROWARD    **Fed Aid No:** N/A  
**Contract Time:** 365 CALENDAR DAYS    **Project(s):** 43787437201 (\*)  
**Contract Desc:** BROWARD COUNTY PAVEMENT MARKER

Rank	Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ROADS RENEW LLC	Responsive	Winning bid	\$176,450.00	100.00%
2	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$184,935.00	104.81%
3	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$251,725.00	142.66%
4	AL-MUMIN ENTERPRISE LLC	Responsive	Non-Winning Bid	\$255,150.00	144.60%
5	DAVID'S ASPHALT INC.	Non Responsive	Non-Winning Bid	\$323,960.00	183.60%
6	TRP CONSTRUCTION GROUP, LLC	Responsive	Non-Winning Bid	\$785,850.00	445.37%

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*

**NOTICE TO INTENT TO AWARD WAS POSTED:****BEGIN DATE:****02/03/26****BEGIN TIME:****10:30 AM****END DATE:****02/06/26****END TIME:****10:30 AM**

**NOTE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$ 350,000.00 and not the contractor's bid total.**



## Tabulation of Bids

Page 1 of 4

**Letting:** 04260109 January 09, 2026**Call Order:** 001**Contract:** E4Y38-R0**District:** District 4**Counties:** BROWARD**Fed Aid No:** N/A**Contract Time:** 365 CALENDAR DAYS**Project(s):** 43787437201 (\*)**Contract Descr:** BROWARD COUNTY PAVEMENT MARKER

The work under this Contract consists of removal and placement of retro-reflective markers (RPM's) and delineators along with the painting of bullnoses and island curbs on the State Highway System in Broward County.

•ADVERTISED ESTIMATE: The award amount and contract performance bond shall be based on the Department's advertised estimate amount of \$350,000.00 and not the contractor's bid total.

•PERFORMANCE BOND: A Contract / Performance bond is required for this project.

•REQUIRED SUBMITTAL WITH BID: Pavement Marking Experience Form 850-070-06 must be submitted with the bid.

•GENERAL LIABILITY: The limits of coverage shall not be less than \$1,000,000 for each occurrence and not less than a \$5,000,000 annual general aggregate, inclusive of amounts provided by an umbrella or excess policy. The limits of coverage described herein shall apply fully to the work or operations performed under the Contract, and may not be shared with or diminished by claims unrelated to the contract. The policy/ies and coverage described herein may be subject to a deductible. Pay all deductibles as required by the policy. No policy/ies or coverage described herein may contain or be subject to a Retention or a Self-Insured Retention.

PLEASE READ STANDARD SPECIFICATIONS FOR ROAD AND BRIDGE CONSTRUCTION FY 2025-26 (SECTION 7-13) FOR INSURANCE LIMITS.

Line No / Item ID Item Description	Alternate	Quantity Units	(1) ROADS RENEW LLC		(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC		(3) MCSHEA CONTRACTING, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (PAVEMENT SYMBOLS (SF</b>								
0005 0705 11 1 DELINATEATOR, FLEXIBLE TUBULAR		10.000 EA	70.00000	700.00	144.00000	1,440.00	500.00000	5,000.00
0010 0705 11 2 DELINATEATOR, NON-FLEXIBLE		10.000 EA	70.00000	700.00	144.00000	1,440.00	500.00000	5,000.00
0015 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NOSE		10,500.000 SF	0.10000	1,050.00	0.31000	3,255.00	1.65000	17,325.00



## Tabulation of Bids

Page 2 of 4

**Letting:** 04260109 **January 09, 2026** **Call Order:** 001 **Contract:** E4Y38-R0

Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(1) ROADS RENEW LLC	(2) ROGAR MANAGEMENT & CONSULTING OF FLORIDA		(3) MCSHEA CONTRACTING, LLC		
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount

**SECTION: 0001 (PAVEMENT SYMBOLS (SF**

0020 E706 1 42 REFLECTIVE PAVEMENT MARKER( REMOVE AND REPLACE)(CLASS B)	60,000.000 EA	2.90000 174,000.00	2.98000 178,800.00	3.74000 224,400.00
<b>0001 PAVEMENT SYMBOLS Section Totals:</b> <b>(SF)</b>		<b>\$176,450.00</b>	<b>\$184,935.00</b>	<b>\$251,725.00</b>

---

<b>Contract Grand Totals:</b>	<b>\$176,450.00</b>	<b>\$184,935.00</b>	<b>251,725.00</b>
-------------------------------	---------------------	---------------------	-------------------



## Tabulation of Bids

Page 3 of 4

Letting: 04260109 January 09, 2026			Call Order: 001		Contract: E4Y38-R0			
Line No / Item ID Item Description ( ) indicates item is bid as Lump Sum	Alternate	Quantity Units	(4) AL-MUMIN ENTERPRISE LLC		(5) DAVID'S ASPHALT INC.		(6) TRP CONSTRUCTION GROUP, LLC	
			Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION: 0001 (PAVEMENT SYMBOLS (SF</b>								
0005 0705 11 1 DELINEATOR, FLEXIBLE TUBULAR		10.000 EA	150.00000	1,500.00	411.00000	4,110.00	175.00000	1,750.00
0010 0705 11 2 DELINEATOR, NON-FLEXIBLE		10.000 EA	150.00000	1,500.00	290.00000	2,900.00	110.00000	1,100.00
0015 0710 11290 PAINTED PAVEMENT MARKINGS, STANDARD, YELLOW, ISLAND NOSE		10,500.000 SF	2.30000	24,150.00	1.90000	19,950.00	6.00000	63,000.00
0020 E706 1 42 REFLECTIVE PAVEMENT MARKER(REMOVE AND REPLACE)(CLASS B)		60,000.000 EA	3.80000	228,000.00	4.95000	297,000.00	12.00000	720,000.00
<b>0001 PAVEMENT SYMBOLS Section Totals: (SF)</b>				<b>\$255,150.00</b>		<b>\$323,960.00</b>		<b>\$785,850.00</b>

<b>Contract Grand Totals:</b>	<b>\$255,150.00</b>	<b>\$323,960.00</b>	<b>785,850.00</b>
-------------------------------	---------------------	---------------------	-------------------



**Tabulation of Bids**

Page 4 of 4

---

**Letting:** 04260109    **January 09, 2026**    **Call Order:** 001    **Contract:** E4Y38-R0

*NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.*